PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
8th August 2016, 12:00 PM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

How many members of the State Legislative Council are elected by the Assembly? / fau=yT gR ¥rSa fau=

ufvug & fram aewl &1 Tu= far wiran 82

® 1/6™ of the members /ﬂﬂ'\qﬁ P BT BT 1/691

e 1/3" of the members / TGN I JT BT 1/3 i

* 1/12" of the members / TEAT DI TGAT BT 1/12 i

® 5/6t of the members / A&T| P T HT 5/6d1
Correct Answer :-1/3'9 of the members / TGEI DI T BT 1/3 qf
2)

Question Stimulus :-

If P+Q means P is the brother of Q and Q+R means Q is the father of R, how is P related to R? / "‘.T% P+Q &1 GRf % & P,

QFTHE 2TG Q+RFT IS & fF Q, RFTUGTR, P, R A fhu Te It 82
® Pis the grandfather ofR / P, RTZF[EIET%
° PistheuncleofR/P,Raﬂ?l'ﬁlT%

P is brother of R / P, REFI'Q-I'Ig%

® P isthe cousinofR / P, RETE'%?T'H’I%%

Correct Answer :-Pisthe uncleof R / P, R &1 d™I '%

3)
Question Stimulus :-

Which Union ministry launched Swachh Office drive? / fpg dama™ S FraTad SI5d BT "{[W” foear %?
® Ministry of Panchayat Raj /'Ci?I'I'CI?ﬂ TS HATAd

® Ministry of Rural Development / me

()



® Ministry of Tourism /uﬁ'c::rﬂamu

® Ministry of Urban Development / 3I'IF'\PF ICEIR R EID
Correct Answer :-Ministry of Urban Development / RT&%1 f[d&T HaTed
a)

Question Stimulus :-

‘Carpenter’ is related to ‘furniture’ in the same way as ‘cobbler’ is related to/ ‘EI?._!'&;’ “BHRR

¥ U IR Hafd 3 o avg “HEY S99 wefa §
® Shoe / S[dT
* Socks / JRTd
® Footwear / UTGATUT
® Leather / TH
Correct Answer :-Footwear / UIGATOT
5)

Question Stimulus :-

The Governor is appointed by / XTSOUIe  gIRI F—‘lgaa T SITar %l
 Prime Minister / T HAT

® The President / Trguﬁ'r
® Law Minister / PI-[d A

® Chief Minister / JTHAT

Correct Answer :-The President / ITFUfd

6)
Question Stimulus :-

Who established the Vikramashila University? / faspafRmar fayfoenea &1 wirg=r fea= &1 #2
® King Ashoka / XTSIT 3N
® King Ramapala / ITSIT ITHUTST

® King Dharmapala / TSI T

©)



® Bindusara/ ﬁ?ﬁ'\qﬂ'
Correct Answer :-King Dharmapala / ITIT $HUTd
7)
Question Stimulus :-
The Indian Rupee Symbol ? was designed by / YR ¥UT ¥ g o 9= feaq &t Az
* D. Udaya Kumar / 81. 3¢4 $HR
® Nondita Correa-Mehrotra / T-IﬁiaT W—ﬁm
® Hitesh Padmashali / %ﬁ'ﬂT ST
* Shibin KK / RIfeq &%
Correct Answer :-D. Udaya Kumar / 31. 3¢9 $HR
8)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fovea gﬁq
St 3T T Sy wd el & 9R § 98 B

Statements: / PY:
All batsmen are cricketers / 94 Sia fhbe &
No cricketer is bowler / ®I5 fpae? Tean Ag] &

Conclusions: / fAwpd:
I. No batsman is bowler / ®Is SeadS lears Fg] &
II. All cricketers are batsmen / It fbp e Tia %

® Only conclusion | follows / &ad frpd I feaar g
® Only conclusion Il follows /W frpd o IECASGI %
® Both conclusion | and Il follows /?ﬁ:ﬁ e 1 ik 11 fFrpea %

® None of the conclusion I or Il follows / fpf1arrd ﬁﬁg T-I'(ﬂ' Freaar %
Correct Answer :-Only conclusion I follows / $ad f~rspd I fereerdr g

(4)



9)
Question Stimulus :-

What did A. B. Vajpayee add to Lal Bahadur Shastri’s slogan ‘Jai Jawan, Jai Kisan’? / ¢IT¢] dglg¥ TRl & AT

ST STaT ST foar # sred fagrRt arerudt 3 ot sitsT U1
® Jai Sultan/ ST el
® Jai Vigyan/ ST ﬁ?ﬂq
® Jai Hindustan/ o9 %QWI_'{
® Jai Sangram/ oI LI
Correct Answer :-Jai Vigyan/ 519 fagm=

10)

Question Stimulus :-

The Motor Vehicle Act extends to /'Fﬁf?' dled arf\%rﬁu'qﬁﬁ-ﬂ §§%
* Al of India / HIRd H T4 518 &
® Only in one state (the state of registration of the vehicle) /W TP MY (died P TSP & ) |
® Onlyin a set of adjacent states W'\‘l’é’ﬂ?ﬂﬁ@@? H
® Only in states governed by the same political party / Fad Udh é’f NEEIIGED tﬂﬁm TfYa Il A
Correct Answer :-All of India / HRd & 9} g &
11)

Question Stimulus :-

AS Dileep Kumar is better knownas . /Ewﬁ?ﬁ'qwﬁ q3I W'\ﬁ_%mﬁm STl %I
¢ AR Rahman / B3R YgHH
* RD Burman /3RS XU
® Mithoon / ﬁfﬂ:r
e Naushad / IRIG

Correct Answer :-AR Rahman / B3R YgHIH

12)
(5)



Question Stimulus :-

Where in Madhya Pradesh is the Samadhi of Rani Durgavati located? / T ?Th?ﬂ & gUTh g7 U § Fel
R fRua 32

® Shahdol / XGSTA
® Damoh / E’Fﬁ?

* Seoni/ Ryat

® Jabalpur / STdAIYR

Correct Answer :-Jabalpur / TR

13)
Question Stimulus :-

If the bread is toasted and mayonnaise is spread on it then either I will go hungry or I will
have acidity. I have acidity so mayonnaise was not spread on the bread. / Ife 98 Pl e

T ST @ SR 39 WR WG T Siran @ o & YT I8 S a1 g9 TRifSd 8 s g viRifed
ST A oS UR T8l @I 97 U7l

* True / '\‘:I%’r

* False / Tldd

e Maybe / B TPl §

e Irrelevant / 3UTHRT®
Correct Answer :-Maybe / 8 I&dl
14)

Question Stimulus :-

A dice contains six alphabets from A to F on its six faces. Two Positions of Dice are shown

below: TP T & 6 BAPI & W A A dF F 3A&R ifHd & ud B 3 srqrie A= fearg 78 g

(6)



Which alphabet lies at the bottom face of the dice (i)? / T (i) & F9d Ba® & HUR DI AT
3I&R 3ifdrd 82

e A
Correct Answer :-E
15)

Question Stimulus :-

Choose the number which is different from others in the group. / 39 J&1 &I ﬂﬁ'& ]| qige |
T |G H ST B

° 6

Correct Answer :-7

16)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowea ﬂﬁ'l;f
St fRT T wy vd et & R o 98 g

Statements: / ©YH:

(7)



All kites are eagles / 9 9id o8 &
All eagles are birds / Hﬂ-ﬁmq&ﬁ%
Conclusions: / fr=pd:

I. All kites are birds / It Hia ueht §

II. All birds are kites / Il ugft fia &
® Only conclusion | follows / W ﬁl’W& I fHaan %
® Only conclusion Il follows /W forsm o) Freaar %
® Both conclusionland Il follows/?a:ﬁ: ﬁwcf I \"rﬁT II ﬁﬁﬂ' %

® None of the conclusion | or Il follows / ﬁ'@ﬁf IATII | '\ﬁ aﬁs‘ T-Iﬁ Hroaar %
Correct Answer :-Only conclusion I follows / Pad et 1 e %

17)
Question Stimulus :-

Who is the author of 'Viklaang Shraddha ka daur'? / "TI®@NT 4GT BT R’ P ATP B 82
® Makhanlal Chaturvedi / HIRI-TdIel ?rgl,_aa
® Atal Bihari Vajpayee / 3icd foert e
® Bhagwan Datt Sharma / HITdI- qd Tt

¢ Harishankar Parsai / Eﬁ'ﬂﬁ’_\" W'I—‘.i:
Correct Answer :-Harishankar Parsai / SI¥RIP URATS

18)
Question Stimulus :-

The jumbled letters of words are given below. Each letter has been humbered. Choose the
option which gives the correct order of the letters as indicated by the numbers to form

meaningful word. / Y| & IR 3R T4 33 T §| TP 3ieR S I d forar T 8] 98
fawer g <t arde Tsg 31 91 & o) J=mell & U 3eRT &1 gl Hd ol 5

TLPNAE

123456

e 3,2,54,1,6

e 3,2,5,4,6,1
(8)



* 4,5,3,6,2,1

* 4,6,1,3,52
Correct Answer :-3,2,5,4,6,1
19)

Question Stimulus :-

Select the statement that is the negative of the statement “"The sun is shining or the store is

closed.” / 3 ®Y B g1 ol 59 HYT S UfddIg & "gd THS 81 ¢ U1 gbM §g 1”
® The sun is shining or the store is not closed /ﬁéww%mwmqﬁ%
¢ The sun is shining and the store is not closed / '\TIfW el % Sﬁ?w [ T{ﬂ%
® The sun is not shining and the store is not closed / q;cfm qﬁ?’&ﬂ% Gﬁ?w [ :re?r%
e If the sun is shining, then the store is not closed / af¢ Td au® 6T 8, <l g dg -6l &

Correct Answer :-The sun is not shining and the store is not closed / %ICTW TSI e 8 3R
P dg 81 8

20)

Question Stimulus :-

In the following question, there is certain relationship between the-first two wprds. Choose
the following option which has a similar kind of relation. / oy 'Ef, USd & W3l &b drd WP
ey g| 98 fawen gihe R St weR &1 9dy g

LEAVES: TREE: : ?
® DESERT : SAND
® PETALS : FLOWER
® RIVER : FOREST
® BOY:GIRL

Correct Answer :-PETALS : FLOWER

21)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / a8 &« gHg
st T 7T By wd Freeel & R & 9E f1

©)



Statements: / ®Y:

All capsules are tablets / 9 $oya ¢aae &

No tablet is tonic / PIs ¢adic cliv® A8l @
Conclusions: / fAwd:

I. Some capsules are tonics / P9 a»‘lﬁ?r e §
II. No capsule is tonic / ®I3 HRA S ol &

® Only conclusion | follows / Haqd ey 1 Aeadr %

® Only conclusion Il follows / Had ﬁ"ﬁﬂf i freeaan %

® Both conclusion | and Il follows /?:ﬁ:ﬁ frwpy 1 3T II e %

® None of the conclusion | or Il follows / ﬁf&?lﬂf 191 II | '\ﬁ aﬁz-,‘ qﬁ IECNGI %
Correct Answer :-Only conclusion Il follows / $ad Frsed 1 Frdverdar &

22)
Question Stimulus :-

Anand is Kittu’s son, Kittu and Sonu are sisters, Z is Sonu’s mother, Puttu is son of Johari; then: / Slmm?ﬁgﬁ%,

frge iR A 95 §, Z A P1 i &, Yge Slies! T 9el 5; af:
® Puttu and Anand are cousins / I 3fIX 3T Ta¥ HTS &
® Puttu is maternal uncle of Anand / U 3fT-i¢ &T ATHT &
® Sonu is Anand’s grandfather / |17 3IT-ig & GIaT &
® Kittu and Puttu are sisters / fge SR Yge ag &

Correct Answer :-puttu is maternal uncle of Anand / g€ 3{T-ig $T ATAT &

23)

Question Stimulus :-

Kohima is the capital of . /ﬂﬁ%ﬂT_ﬂ%Wﬂﬁ%l
e sikkim / RifaeH
® Meghalaya /ﬁ'ﬂ'l?l'q
® Tripura /ﬁ'ﬁ?T

(10)



® Nagaland / TAS
Correct Answer :-Nagaland / TS
24)
Question Stimulus :-
How many rivers originate from the state of Madhya Pradesh? / fast AfcaT v U I=T A m@?ﬁ %?
e Six/®
® Eight /3l
® Ten/ G

® Twelve / dIRG

Correct Answer :=Ten/ ¢4

25)
Question Stimulus :-

P,Q,R,S,T,V and W are seven members of a family belonging to three generations. There
are two married couples, one each of first and second generations respectively. They travel
in three different cars X,Y and Z so that no car has more than three members and there is
at least one female in each car. R, who is a granddaughter, does not travel with her
grandmother. Q travels his father T in car Y. V travels with her granddaughter S in car X. P
travels with her daughter in car Z. / P,Q,R,S,T,V 3R W T® & URaR & Hd e g ol fb §F
Hifeat & wafga &1 ¢ R w8 § ,9d® wuwn: ugdl vd fgda fifeal & 31 3 @7 s mifgan, x,v ek z
H 9 TRE U1 B § forad fF fredt oft St A 9 4 oiftrr dew 7 8 ok vl TSt § $H I H UH
HigdT 81 R, S fb Ueh Uil €, 31Ul Sl & 1Y g T8l ®el 1 Q A far T & |1y WSt Y | a1 Hrar
21V U Uit S & 1Y ST X ® I Bl 21 P U1 9 & 91y TSt Z # g Sl gl

In which car are three members traveling? / {59 ®R # fi9 To 91 B3 3}/ &2

e Either XorY /araiXdlyY

Correct Answer :-Y

26)

Question Stimulus :-

(11)



Who established the Nanak Panth / FTFI® UY B WITgAT fea @t Az
® Guru Nanak / ¥ AP
® Guru Amardas / 3= HR QI
® Guru Ramdas /¥ ITHGN
® Guru Arjun Dev /[ \’AT{I:[ 39

Correct Answer :-Guru Nanak / T A6

27)
Question Stimulus :-

Which of these states shares its border with Bangladesh? / ﬁgmﬁ' o ﬁT{ T I 3T T m »
1Y TS HId &2

® Tripura / ﬁ'QRT
® Andhra Pradesh / 3fiY ?Iﬁ'-‘ZT
® Madhya Pradesh / H U%QT

® Maharashtra / HERTY

Correct Answer :-Tripura / Q1

28)

Question Stimulus :-

In the following diagram. / 3 snefa &

Circle S stands for households having a scooter;/ 9d S W?ﬂa TRaR g=Iiar 8

Circle T stands for households having a TV set; / 3 T <141 ara uRaR a=ifar @

Circle W stands for households having a washing machine; / 39 W TIRi7 =09 a1d IRAR

UG

Circle C stands for households having a car. / 33 C R dId URGR g¥ifar §

Note: The different numbers indicates the non-over lapping regions. For example, S
represents unions of regions 1,11,12,8,9,10 and 6. / fcwufl: e mﬁﬁﬁmﬁ%ﬁ? HAR

& B11 ISTERVT F farg, swm%fﬁm1 11,12,8,9,10 3R 61

(12)



Households having neither scooter nor car are represented by / URaR # PR Y PR | HREIS

&7 31 SR Far g
® Region 2 / T2
¢ Union of region 2,13 and 3 / asry 2,13 3R 3
* Region 3/ &3 3
®* None of these / E?ﬁ ﬁﬁgqﬁ
Correct Answer :-Union of region 2,13 and 3 / &399 2,13 3R 3

29)
Question Stimulus :-
Five boys participated in an elocution competition. / &g« Wl ¥ Ui ds®! A e forami
1. Alok ranked higher than Suresh / 3(Teli® & I I St goft e §s gl
2. Suresh ranked higher than Prakash / T &1 &1 ¥ &l 40it U 8 21
3. Alok ranked lower than Nikhil / 3 oI AfRaa I i<t goff ura '5"5: gl
4. Kabir ranked between Alok and Suresh. / FaR $I AAF 3R I F & ot Joft o g3 21

Who is ranked the highest? / T89 $d1 397 %9 U g8 €2
e Nikhil / fAfaa
e Alok / 3Tal®

(13)



. Suresh/'{ﬁ'f&
e Kabir /®dRR

Correct Answer :-Nikhil / fAf@a

30)
Question Stimulus :-

In his autobiography, M K Gandhi calls his mentor and guide. / HETAT Tidh Sra=t
3THPYT |, FI AU [T 3R AFfeRi® Fed gl

® Jawaharlal Nehru / SIdlgX dId aﬁ?a

e Sardar Vallabhai Patel / GG GeIHHTS Ued

® Gopal Krishna Gokhale / mnurd Lyl mEd

® Mangal Pandey / HE uie
Correct Answer :-Gopal Krishna Gokhale / TIUTel 80T Tl
31)

Question Stimulus :-

Select the statement that is the negative of the statement “"Some cricketers are tainted.” /

U YT I T o 30 Y F1 UfdalG 8 " hdex TRE &
e All cricketers players are tainted / 94 fordre faasSt WRIa &
e All tainted people are cricketers / 9! @R1@ T fopdpex &
¢ Some cricketers aren’t tainted / WW TR 781 &
 No cricketer is tainted/ @13 ft firdrex @9 T8
Correct Answer :-No cricketer is tainted/ &5 ¥} fhthex W19 781 8

32)
Question Stimulus :-

Bargi one of the major irrigation projects of Madhya Pradesh is situated on the

./ A0 A ueR ot W RS tRaiemei d A Tw e s @l wRE Rl
® Narmada and Tapti / T'IﬁET 3R aralt
* Narmada and Yamuna / -THgT 3R ag-1

(14)



e Narmada and Ganga / TTHgI 3% 71T
® Chambal and Tapti / d9d 3R AT

Correct Answer :-Narmada and Ganga / sTHaT 3fR 7T

33)
Question Stimulus :-

‘Letters from Russia’ was written by? / e wia IRET fead g1 forat TI'Q; )]
® Dadabhai Naoroji /E;"I_Q'T'l-l'l_ﬁ; Tﬂﬂﬁﬁ'
* Bal Gangadhar Tilak / 9Tel TR IGE
° RNTagore/GI'R'Q:TéTnT
® JL Nehru /S Td AgF

Correct Answer :-R N Tagore / 3R T &R

34)
Question Stimulus :-

In a queue, A is eighteenth from the front while B is sixteenth from the back. If C is twenty
fifth from the front and is exactly in the middle of A and B, then how many persons are
there in the queue? / T% $AR &, A UHA ¥ ZREd VM W § Fafe B WY & Wdgd VM |R g1 3R
C IHH 3 Tfid M R 8 3R o A 3R B & di9 8, @ fha safds sar # &2

® 45
* 46
® 47
® 48
Correct Answer :-47

35)
Question Stimulus :-

Mars Orbiter Mission completed 100 days around Mars in _./'FiTI?T 3nfaez e ﬁm'ﬂg%?ﬂ?}f MR L
31 100 &7 e {521

® January 2015 / SFTaRY 2015

(15)



e December 2015/ fa=iaR, 2015

e September 2014 / RIdaR 2014

® February 2015 / WRaR1, 2015
Correct Answer :-January 2015 / ST9G<1 2015
36)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawey
g, st ab sl P A ey W sy & qu= 2 -

It is not true that both Ganga and Kaveri are rivers. / I8 9 78l g & T 3R H1a3 H1 Afear

gl
e Ganga is not a river or Kaveri is not a river. /7 & 9¢] 8! & 9T B3] TP A &1 2
®* Ganga is not a river and Kaveri is not a river. /Tﬁﬂwﬁﬂﬁﬁéﬁ?mwﬁﬂﬁél
e Ganga and Kaveri are not rivers. / T 3R Pt Afeat 78k 81
e Ganga and Kaveri are rivers. / T 3R ®1a31 Afeai €1

Correct Answer :-Ganga is not a river or Kaveri is not a river. /Thanaqﬁ%maﬂﬁﬁ

TH G T

37)
Question Stimulus :-

How many world heritage sites are there in Madhya Pradesh? / U e ¥ foraq fay sRIeR wa 82
.5
. 4
e 1
.3
Correct Answer :-3
38)

Question Stimulus :-

A family consist of six members P,Q,R,S,T and U. There are two married couples. Q is a
doctor and the father of T. U is grandfather of R and is a contractor. S is grandmother of T

(16)



and is a house wife. There is one doctor, one contractor, one nurse, one housewife and two
students in the family. / & URaR & B¢ 9 P,Q,R,S,T 3T U ¥ < Raifta &€ €1 Q ts v~
TR THIMNATEI U, R F TET & 3R Tk PSR €1 S, T F1 el € 3R T& vl &1 uRaR # ter R,
TP SPaR, T T4, TP TEUl ok &l o 3

Which of the following is definitely a group of male members? AGE- k| P a1 ayg BIECESE:]
T 9| &1 JUE 82

* QU
e QUT
e QUP
e UT
Correct Answer :-QU
39)

Question Stimulus :-

In India, shares are held electronically in DEMAT form, the full form of which is__./ HIRd ﬁ, R) R wiF A

AP ¥U § AR #i ol €, e i wud |

® Dematerialized / T‘ﬁm
* Demasted / STHTRS

® Demagnetized / m
* Demarcated / STHTPCS

Correct Answer :-Dematerialized / m

40)
Question Stimulus :-

1. Eleven students A,B,C,D,E,F,G,H,I,J and K are sitting in the first row of thga class_ facir)%%
the teacher. / ™R8 BT A,B,C,D,E,F,G,H,I,] 3R K fiei® ot 3R g fou gu weam ¥ ugdl ufqa o

gl

2. D is to the immediate left of F and is second to the right of C. / D, F & g_d Rl 3R § 3R C
& Il SR gOvT B

3. A is second to the right of E, who is at one of the ends. / A, E ¥ gifgHl eﬁw?rg'\rm%, S foreft
e RR W B

4. ] is the immediate neighbour of A and B and third to the leftof G. / J, A 3R B &1 FAdean
TSR 2 3R G & I IR TR 2 |

(17)



5. H is to the immediate left of D and third to the right of I. / H, D & id Il 3R 3 3R I &
g 3R HwRT 31

Which of the following statements is true in the context of the above sitting arrangements?

/ SR $o& AT & AGHITIR 9 & § S 1 $YT 9 872
¢ There are 3 students sitting between Dand G / 3 W@%G’f D3RG %Waﬁ'g’q%
e KisbetweenAand] /K A3RIS AT
e B is sitting betweenJandI/ B, ] 3R I aEEﬂT:I%

e G and C are neighbours sitting to the immediate right of H / G 3R C q@'\‘:ﬁ ESIHS
X il 3R 9% ®
Correct Answer :-B is sitting betweenJand I/ B,J 3R IS T8

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

Abu bought 25 mangoes each at Rs. 6. He sold them at Rs. 8 each. What was his total profit? / 3@'\% 25 3MH

W, TS B BT 6 7o 8| IUH TAP &I 8 o | €| I¥ $o fpa-r ey gam?
° 50
° 30
* 36
* 60
Correct Answer :-50
2)
Question Stimulus :-

Prof Calculus told his students that 267”4 was 508212152 and 617”4 was 234885113. Four
of his students copied down these but only one noted both the sums correctly. Which one?

/ MR Sagad = 3 faenfial &) garn & 26774 &1 7 508212152 8 T4 6174 &1 UM
234885113 §| 3% faaffal # § IR 3 39 i fFa g 97 T A SHI 9 &1 9E ¥ e |
feaa?

o 2674 =508212152; 617" = 234885713

o 267"%=508212152; 617" % = 234885113

(18)



o 267"%=508212152; 617" = 234885118

o 2674 =508212152; 6174 = 234385118
Correct Answer :-267"% =508212152; 617 4 = 234885113
3)

Question Stimulus :-

In the following question, one term in the nhumber series is wrong. Find out the wrong
term. / 9 Uy #, J@IT 4@ # TP UG Tad g| Td US §d pioA| 9,11,20,31,51,84

° 84

° 11

° 20
Correct Answer :-84
4)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬂ"ﬁ 3I&R AP gl G| T PINTT :x _yyz _

XXy 77X Yyyzz

* yxzy

® XZyXx

® Xyyx

® 7XyX
Correct Answer :-xzyx
5)
Question Stimulus :-
75372-247"2= 7

® 504000

® 50600

(19)



® 506000

® 505000
Correct Answer :-506000
6)
Question Stimulus :-

Complete the series choosing the missing number: / ﬁﬂ"ﬂ =T YAPY YRaell Bl T ?ﬂ'ﬁlﬂ' -

3,7,1,15,

°® 17

°* 16

°* 19

e 21
Correct Answer :-19
7)

Question Stimulus :-

If FIRST is coded as GISTU, how is THIRD coded? / If¢ FIRST B GISTU A HITSd fFar SIram 8, 9 THIRD

o Y Pifsa fwar wmar g2
* ULJSE
e UJTTF
e UHUTF
e VJHTF

Correct Answer :-UIJSE

8)
Question Stimulus :-

A shopkeeper buys cellphones at the rate of Rs. 2400. He makes a profit of 15%. If the profit he made in August is
Rs. 18,000, how many cellphones did he sell in that month? / T GPTHGR 2400 ¥UY & &3 A TP AABIA
TIedT 8] S 15% BT A1H BIdT 8] Tfe IH SR H 18,000 TUT HT 1Y BT 8, 391 39 T4 H fpaq
JABIH 22

(20)



®* 500
* 60
* 50
®* 100

Correct Answer :-50

9)
Question Stimulus :-

The mirror images of four words are shown below. Three of them are living beings but one is not. Which one? /

IR Tl ¥ U gRifT TR R s A i iRa i f mg e & g se P &2

il
A0
2O
. Lo
comectawerts IV

10)
Question Stimulus :-

Complete the series choosing the missing letter/s: / faqW 31&R FADR 4G B W HIoC 1 _
Pap _ _qap _ _q

® Pqqqpq
® Pqqpgp

® gppqqq

(21)



® qqpgpp
Correct Answer :-pqqpqp
11)
Question Stimulus :-

Complete the series choosing the missing number: / ﬁﬂ'ﬁ ST DR gaell | T PIfoIT =

3,579,

L)

e 11

* 13

* 6
Correct Answer :-11
12)

Question Stimulus :-

The HCF and LCM of two numbers are 25 and 1759 respectively. If one of the numbqrs
is 175, find the other humber / & @3 & HCF Td LCM HHT: 25 3R 1750 &| afe T J=Im

175 8, 9 GER W1 JId oY
e 250
e 200
e 240
e 260
Correct Answer :-250
13)

Question Stimulus :-

In a certain code ' Clean the board’ is written as ' wega so pola’; ' Board is
black’ is written as 'tem wega lo’ and 'Very clean room’is written as ‘clas
so poka’ . In that code the word for 'Clean’ is: / {&3 @RI @IS U H, ' Clean the
board’ H wega so pola’ A foran & iR ' Board is black’ &Y ‘tem wega lo’ 3R 'Very clean
room’ ‘clas so poka’ ¥ for@r g] Sl e YW # *Clean’ & oW oIs &:

(22)



® poka

® pola

® clas
Correct Answer :-so
14)

Question Stimulus :-

In a certain code language 'students are crazy’ is written as ‘ast munol gokon’
and ‘Teachers are great’ is written as 'silal fesp ast’. In that code language
the word for ‘are’ is: / {5l WY PIs UMNT H, ‘students are crazy’ &\ ‘ast munol gokon’
3R ‘Teachers are great’ &I 'silal fesp ast’ T forar %l I Bl YT | ‘are’ & e =g %:

® ast
® munol
® fesp
® silal
Correct Answer :-ast

15)

Question Stimulus :-

I bought 12 eggs at the rate of Rs. 2. Two of them went bad. I sold the remaining eggs at Rs. 3. What was my total
profit? / HH 2 To F & F 12 33 W] 379 ¥ & TWRIT 8 Y| §9 gT 3iS A7 3 To & ¥ ¥ 91 ey
TRT Fd ATH HIT Y12

* 12

Correct Answer :-6

16)

Question Stimulus :-

(23)



Simplify the ratio 18:45:72. / 18:45:72 3UTd B U DifoTd
® 1:3:5
e 2:5:8
° 3:5:7
® 6:5:4
Correct Answer :-2:5:8

17)
Question Stimulus :-

In the sequence shown below, which figure comes next? / 4 e & w9 o spTdlt 3{@%
P Ot gift?

s ndkaiin

i

111 v v Wl

%
%,
{Q
§><
o pnomer -

18)

Question Stimulus :-

(24)



If FARM is coded as GBSN, how is CROP coded? / Tf¢ FARM &I GBSN ¥ ®ifed f5ar Sirar g, ot
CROP & & Pifed faar &rdr 82

* FGHP

* STUV

* DSPQ

* DSRP
Correct Answer :-DSPQ
19)

Question Stimulus :-

In the sequence shown below, which figure comes next? / =9 fR@R T H9 # 3rTell enmpfa

S I grft?
A\9)©,

i

1®

Vi

&0 O 6

Correct Answer :- ..

20)

Question Stimulus :-

(25)



In a factory which produces electric bulbs, 1 out of every 10 bulbs is defective. If the factory produces 870
bulbs per day, how many defective bulbs are produced each days? / Th ﬁm‘& 'Bf, \_rﬁ CEGI % ded
IdTfed Hdl €, 10 Toal A F 1 Iod 2| 9 Haedt & o9 & 870 wow IaTied w3l &,
@ w27 fran Ffeyul aea sanfea g

* 46

e 72

° 87

e 100
Correct Answer :-100
21)

Question Stimulus :-

75% of 240 is ./ 240 BT 75% 8 |
* 120
¢ 180
e 200
o 225
Correct Answer :-180

22)

Question Stimulus :-
The first three lines in the correct solution of a game of SUDOKU were 312498765, 967215348 and 845367192. The
answers of A, B C and D were as under. Which of them is correct? / '\ﬂ?ﬂq" & Udh Tqd P LEHEEIEIE] | ugal
1T Ui 312498765, 967215348 3R 845367192 2

® 312498765, 967215348 and 845361792

® 312498765, 9672135348 and 845367192

® 312497865, 967215348 and 845367192

® 312498765, 967215348 and 845367192

Correct Answer :-312498765, 967215348 and 845367192

(26)



23)
Question Stimulus :-

Evaluate / JEI®T Bz 8756 x 99999,
* 815491244
* 796491244
* 875591244
* 815401244

Correct Answer :-875591244

24)
Question Stimulus :-

The price of basmati rice is Rs. 80 per kg. This is 20% more than last year. What was the rate last year? /

I A19d BT Jod 80 o Ufd fpat g| I8 Usd ad I 20% e 8| Uod v goa & ur?
® 16
. 9
* 04
® None of these / $TH & DI &l

Correct Answer :-None of these / S8 & PIs gl

25)
Question Stimulus :-

In a certain code language ‘Dark Red Colour’is written as 'kim cof demb’
and ' Red Ball Pen’is written as ' fink lima kim’. In that code language the
word for ‘Red’ is:/ &t @I &I MW &, *Dark Red Colour’ &Y ‘kim cof demb’ 3R * Red
Ball Pen’®t " fink lima kim’ % for@1 81 I3t &I UM & Red’ & T 21eg &:

® cof
® fink
® kim

® Jima

(27)



Correct Answer :-kim

26)
Question Stimulus :-

Fill up the blank: 215is ___ percent of 860. / F¥ad TITH I W3: 860 BT ufa=ia 215 8]
° 645
° 55
¢ 20
° 25
Correct Answer :-25
27)

Question Stimulus :-

The price of a chemical has risen by 20% in one year. If it is Rs. 600 per kg now, how much was it last year? / Uch
AT & G TP a8 H 20% DI gl il g Tl 31T ITBT & 600 TUAT Ui fparmy g, af fuga ad
LUDT I HT YI?

® Rs. 500
® Rs. 100
® Rs. 120
® Rs. 720

Correct Answer :-Rs. 500

28)

Question Stimulus :-
Hema bought 12 mangoes for Rs. 60. Three of them went bad. She sold the remaining at Rs. 6. What was her loss?
/ 391 7 60 ¥o H 12 3 WG| T79 ¥ i WRI9 g Y| T T B I 6 Fo § I fam| SqH
g1 T 412

® Rs12

® Rs6

® Rs0

(28)



® Rs3
Correct Answer :-Rs 6
29)
Question Stimulus :-

Simplify the ratio 13:52:78. / 13:52:78 3JUTd B! TRA Diford
e 1:2:3
® 2:4:9
e 1:3:8
® 1:4:6
Correct Answer :-1:4:6
30)

Question Stimulus :-

R can do a piece of work in 20 days and S can do it in 15 days. They work together for 2 days and then R goes
away. In how many days can S finish the remaining work? / R fo<ft o1d &1 20 ﬁT-ﬁ i PRI Y o dl %
3T s 39 15 o1 A T B AHar g] s AV HE fhaq fo=1 A Jura s Ihar 32

e 111/2days
e 131/8days
® 141/4 days
e 151/6 days
Correct Answer :-11 1/2 days

Topic:- Science and Simple Arithmetic

1)
Question Stimulus :-

The force responsible for wear & tear of our shoes is / E’Hﬁ' q\?ﬁ' * W ® ﬁ'q S| g9 ﬁrl'lﬁ_dl? % :
® Electrostatic force / RR a:c?ﬁf d9d

® Magnetic force / ﬂiﬁﬂ'q g

® Frictional force / TYU 9
(29)



® Muscular force / U=t 9
Correct Answer :-Frictional force / YUl &
2)
Question Stimulus :-

Answer the questions that follow based on the following data: /ird feu ugi &1 siar9 € o
o Frafafaa faavor w enefya g

Recruitment agencies/ st
Job portals/ #ite{r Méa HEer
MNo. of
recruits, No. of
Tl | Work Experience recruits, Work Expernience
T of recruits; Tert Terel T | of recruits/Tewst
TEar | o FR e e T R AT
50 2 150 2
38 2 G0 3
20 7 35 7
12 10 10 10
5 13 20 15

If 20% and 18% of employees (with experience b/w 3yrs - 7 yrs) recruited through
the recruitment agencies and job portals respectively leave the company within 10
days of joining, what is the loss incurred by the company? / afe wH=nial & 20 ufo=me 3T
18 Afa=ra forg 3-7 98 & Ueg HT 3gUT 81 9 HIR Yl TRAT 3R B Ndd gRT U 84 & 10 A1 &
3R HHAT BIS ¢, dl HHF! GIRT fohra=T JHA ISTAT SITT?

e 1987500

e 1529400

e 1950000

e 1520000
Correct Answer :-1529400

3)

(30)



Question Stimulus :-

Pick out the statement that is scientifically wrong / 3 ®Y- P T B ol B aﬂTﬁa’T FUH e 7

®* The sex of the baby is decided by the kind of father's sperm, either XorY / ﬁl‘i{[ &7 foiT
a1 & YEPTU & UPR A1l X A1 Y gR1 i gar @

® Unfertilized egg of mother always contain X chromosome / ol & sfafa oie '\“l%ﬁ X TMURTA T@d %

® Reproductive life of a woman lasts from menarche to menopause / T BT T Sita GG o ?\_:hﬁ'@ﬁf
% QT 3

® A girl becomes pregnant if she touches a boy / U ﬁ@?ﬁ' fad _Eﬁ' STt % TI'% a Th F’IEQ? BT Tf B %

Correct Answer :-A girl becomes pregnant if she touches a boy / TP ﬁ?:ﬁ afadt gt St % gfe af U
TSP P W B &

4)
Question Stimulus :-

Rainwater harvesting helps in / TSITR"-‘ZT % Tt &1 m Felddl hdl %

® Increasing rainfall / qui ot Q'@ |

® Increasing level of the water table / STeldel & &R Bl q@ |

® Increasing forest cover / d- t‘a?l' | q@ o

® Decreasing cutting of trees /ﬁs’r‘ B Wl's: e #
Correct Answer :-Increasing level of the water table / STeld el P TR DI q% H
5)

Question Stimulus :-

Number of bio-diversity hot-spots in India are / HRd ® S9-fafduar gic-wicl o1 d@m e
® Two / ?ﬁ
® Three / GG
® Five / g
® Six / ©:
Correct Answer :=Two / &

6)
(31)



Question Stimulus :-
When a switch is in off position / SId Tdh &g dg sawn H % -

® circuit starting from the positive terminal of the cell stops at the switch / Jd &F YATHS fiaa F 3Ry
g3 e TRIT W 3T &g & oI §

* circuitis closed / Afhe 9 BT &

® no current flows through it / 3'\‘1'\& ﬁ'gq?r YIRT YdTed q‘g,p[ Eﬁ?ﬁ

® current flows after some time / $® HY GYTd ﬁgﬂ?—r YIRT YaTfed it ©
Correct Answer :-no current flows through it / 399 fagad YRT Uarfga =181 grdt

7)

Question Stimulus :-

In the symbol of electric cell, the longer line represents / ﬁgtl?—[ A & UdIe |, ddl ¥@T ST HReyur
BT % :

® Positive terminal / YFTHD R

® Negative terminal / BUITHD R

® Wire / dI¥

® Direction of current flow / YIRT Udlg | ﬁ'&"ﬂ
Correct Answer :-Positive terminal / YTHDP R
8)

Question Stimulus :-

A piece of bread and a biscuit was kept outside for a few days. Cottony patches started appearing on the bread
faster but the biscuit remained same for a few more days . What could be the possible reason? / s 3R faf&pe

F Ths B 9o fal & T 9Te [T 1T U7 38 W U 4= aoft T femrs 3 o afeq fepe v
f&t are Wt 991 S TeT1 SUST T YT PR 31 Thdl o2

* Moisture content of bread promotes fungus growth / 88 ¥ =¥l &1 AT $a& 31 gix DI

JeTaT Gt §

® Bread contains only less sugar / 35 ¥ ®H AT %

® Yeast in bread promotes fungal growth /ag T @R & SufAfd Fa® &1 q@ | derdrl &t %

® Bread contains more milk / CEk:| il g¥ %

(32)



Correct Answer :-Moisture content of bread promotes fungus growth / ats' o =|1fﬁ Hﬁ LI

®9% B gz B geET Sl &

9)
Question Stimulus :-

The metal used for decorating sweets is / ﬁl?l%'*ff & o H Y YUTq bl W '&PI'EIT %
® Aluminium /Qﬁ&lﬁ'ﬂ'ﬁ
® Silver /T"l'i_cﬁ
® Copper / didal
® |ron /FﬁBT

Correct Answer :-silver / Tidl

10)
Question Stimulus :-

The population of Bangalore increases by 25% annually. If its population was 40,000 in
2008, what will it be in 2010? / STAR I SFHGT # 25% @1 aI® gl gt 81 i 2008 A sHD!
40,000 3}, 2010 § 3 F47 FI1?

® 46,250
® 62,500
® 6,25,000
® 6,250

Correct Answer :-62,500

11)
Question Stimulus :-

The fourth proportional of 0.2, 0.12 and 0.3 is: / 0.2, 0.12 QTII' 0.3 &I ilﬂzf Wla'qlﬁ'cﬁ %
® 0.13
® 0.15
® 0.8

® 0.18

(33)



Correct Answer :-0.18

12)
Question Stimulus :-

Evaluate 1014 * 986 / 1014 * 986 &I HIH I
® 998904
® 999904
® 999804
® 999914

Correct Answer :-999804

13)

Question Stimulus :-

The quotient of 68 = 672 is equal to / 68 = 6°2 BT UG
& TR B
o 64
o 64
o 6°
o 60

Correct Answer :-6!

14)
Question Stimulus :-

A concave lens always forms an image which is / T 3{dddl 'a'ﬂ ﬂ%ﬂ U Q?ﬁ IGICCCRIGH % ot Eﬁ?ﬁ '% :
® Erect / Sed-if
* Virtual / STHTRAT
e Smaller / Bl
® All the above / JWRTaa T+

(34)



Correct Answer :-All the above / SURIad It

15)
Question Stimulus :-

Answer the questions that follow based on the following data: /T-ﬁ%ﬁ'l'{ i PT Sa19 ¢ Sl
o frafafea faawor w snerfya §1

Recruitment agencies, sTar
Job portals/ l&{T TEa HET
MNo. of
recruits, No. of
TEE | Work Experience recruits, Work Experience
T of recruits, TeTet qeEd &1 | of recruits/ e Tl
TEm | 7 T s Hear W F AT
50 2 130 2
38 5 G0 5
20 7 35 7
12 10 10 10
5 15 20 15

What percentage of the total employees recruited in the quarter were through the

recruitment agencies? / Hdl TRIT3M & gRT fowrst A vl gv o sH=niat & ufaxe wm ur?
® 75%
® 68.75%
* 60%
e 70%
Correct Answer :-68.75%
16)

Question Stimulus :-

AB is a diameter of the given circle. If the area above AOB in the circle is x m?2, then the

area below AOB is / 3T T8 99 %1 =I™T AB B1 4fd AOB & ST URT HT &%d x
w2 B df AOB & 19 & UTT FT &hd gl

(35)



e x m2 / x Hiez2
® (x+2)m?/ (x+2) Hew2

® 2xm?/2x Hiez2

Correct Answer :-x m?2 / x Hiez2

17)
Question Stimulus :-

Given AABC ~ADEF. If AC = DE = 10 cm and DF = 6 cm, find AB. / ﬁ'CITTITIT%
AABC ~aDEF. If¢ AC = DE = 10 9Hl. 3ik DF = 6 9Hl., df AB J1d &I

® 50
* 50/3
* 10/3
* 6
Correct Answer :-50/3

18)
Question Stimulus :-

A ray of light strikes the plane mirror at 18% .The angle of reflection will be / U&= CARC |
THad U Ht 180 TR FHIedl 3. URIGd HT HIUT R

o 180
o 270
o 720

e 1620
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Correct Answer :-72°

19)
Question Stimulus :-

Find the radius of the circle, if the perimeter of this circle is 88 feet. /'Clﬁ qd Pl uf¥HTy 88 Wi % @I qd )
rear 39 s

* 14 feet/ 14 Wi

e 10feet/10WIC

2.7 2.7
o 27 feet / "' wWic
° 3feet/3tlﬂ2'

Correct Answer :-14 feet / 14 Wic

20)
Question Stimulus :-

A simple pendulum takes 66s to complete 30 oscillations. The time period of the simple pendulum is / T Il

Wi 30 graHl &) TRT HA & U 66 s AT 81 TS dlad &) q0g A g :
° 225
® 45s
® (0.22s
* 0.45s

Correct Answer :=2.2s

21)
Question Stimulus :-

Answer the questions that follow based on the following data: /ﬁﬁ[ﬁ'ﬁ{ Ul BT SIard & S
o frafafea faavor w snerfya Bl

(37)



Recruitment agencies; st
Joh portals, ie{T T Hrer

No. of

recruits, No. of

7ol | Work Experience recruits, Work Experience

Ty of recruits; Teref TEreT # | of recruits/aETet
50 2 150 2
38 3 G0 )
20 7 35 7
12 10 10 10

5 15 20 15

If every employee through the recruitment agencies costs as follow; to the company,
what is the total cost of recruitment (agency cost alone)? /afe Yeif TRIT GIRT R
Uff aNTa I & IR 7 9 Hdl B $a @NId fhasil 82 $aa TRAT $I NG garg]

1-3yrs Rs.30000/-

4-7 yrs Rs.75000/-

8-12 yrs Rs.100000/-

13-20yrs Rs.150000/-
e 1755000

e 15625000

e 15000000

e 15500000

Correct Answer :-15625000

22)
Question Stimulus :-

o Lol

n]
The value of is /

* 5

(38)

gl



e 0.2

* 0.2
Correct Answer :-0.2
23)

Question Stimulus :-

The false feet of amoeba are used for / 3T & THRA W T &
e Movement only / THHE Tfd H31 & fag
* capture of food only / THHE HISH UHed & Y
e exchange of gases / 19 & fafwg & fg

® capture of food and movement / Yo qﬁﬁ 3R Y F1 & ﬁ‘-nz
Correct Answer :-capture of food and movement / HISI TP 3R T B4 & T

24)
Question Stimulus :-

Which is the 1%¢ antibiotic prepared by Alexander Flemming? / SAFeie FATHIT GIRT ITAT 4T Ugell

tdaraifes S 91 82
® Streptomycin / é@'ﬂ@q
e Tetracycline / cTRIGEIT
* Penicillin / R
® Erythromycin / gﬂ@h'q'lgﬁl:l

Correct Answer :-Penicillin / tfafifes

25)
Question Stimulus :-

Evaluate 4cos? 60° + 4sin? 45° — sin? 30° / 4cos? 60° + 4sin? 45° — sin? 30° BT GeATDHT PI|

* 11/4

(39)



® 52

* 7

Correct Answer :-11/4

26)

Question Stimulus :-

If the time period of one oscillation is 0.02 second, its frequency is / '*T% Th a?F-[ @ gAY 39y 0.02 AHs %,
@ st Mg B :

® 2Hertz / 2 Bé:TrI'
® 20Hertz / 20 el
® SHertz/ 5 31{“[
® 50Hertz / 50 ET{\_r[

Correct Answer :-50 Hertz / 50 §ool

27)

Question Stimulus :-

Answer the questions that follow based on the following data: /T-ﬂ%ﬁ't{ "l T Sarg S Sf

o FufaRea faavor w snurfya €1

Job portals/#ie{T e

Recruitment agencies/ $Tdr

HTer

MNo. of
recruits,

gt
ThT

\q- T

Work Experience
of recruits, Teraf

T FE FAAT

No. of
recruits/
Eree=tia)

HET

Work Experience
of recruits/ 7Tt

T T AT

50

150

38

60

20

35

12

10

10

10

13

20

15
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If the company wants to cut down on recruitment costs what mode of recruitment

:rllj%o;ld they reduce? /af¢ AT Yl B AN gerT =g d@) Hdf & P A d3P B I PH HIAT

e Job portals FﬁT\Pr udd

e Recruitment Agencies / Hdl IITT

e Both /3l

e Cannot be determined / JTd T8l foraT &1 T&var 3
Correct Answer :-Cannot be determined /JTd 8! fdT ST AT %
28)

Question Stimulus :-

Scattering of seeds over the soil surface by hand is called / §aI @t Hde U Bly I §I usivi= hgdldl %
e Threshing / 3R
e Harvesting / JHdT
* Winnowing / Bc&hHl
e Broadcasting / f&c®mai

Correct Answer :-Broadcasting / f&ec®ai

29)
Question Stimulus :-

Answer the questions that follow based on the following data: /=13 feT s &1 Siar9 € =Y
o FrrafafEa faazo w amearfya g1

(41)



Recruitment agencies/ st

HEer

MNo. of
recruits/
TEEeT H

e

Work Experience
of recruits/ Tt

150

G0

10

10

Job portals/ 7T MET

No. of

recruits,

7ol | Work Experience

Ty of recruits; Teref

HEm | s e
50 2
38 2
20 7
12 10

5 15

20

15

If every employee through the job site costs Rs 10,000/- what is the total cost of

recruitment (portal cost alone)? / I &%

W,

ot welf Y oo arTd fPant 81 Fad Uidd daRTd 9d?

e 1250000

e 1500000

e 1300000

e 1000000

Correct Answer :-1250000

30)

Question Stimulus :-

e F WIS §RI, AR 10,000 FU gl &

The total surface area of a right-circular cylinder of radius ‘r’ and height ‘h’ is ./

sar v 3R $UE *h’ & 99 g 999 &1 oo Y5 &A% ©

2ar(h+r)
[

2mhwt
o
e TFh

2k

(42)






